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(=°]) = 10sin62° = 10 X 0.8829 = 8.8 (m)
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A A oA BC o W 5:419] wH& E 21 5hd
AE = 6xsin60° = 3 V3, BE = 6xc0s60° =3, CE=8-3=5
ojth. wetAl AAEC o metugtA 25 A8olH AC =

3\/32-1-52:\/5_2:2\/@0]1—/]_‘
(3V3)
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th2 1387 22 AABC 9|4 &) h & F513A?
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- Hogp -

® 10(v2-1) @)10(V3-1) ® 10(V3- 2)
@10(2\/5—1) @10(@-2)

B

2
h 0

~ fan (60° = 457) + tan (90° = 30°




® (3- V3)m @ (3v3-3)m
@ @V3+1m  G)EVI+3m

® (4V3-1)m

S =olE h 2 otH

/CBH = 45° 0|22 BH = &

(CAH = 30° 0|22

6+h:h=+vV3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1)=3v3+3(m)




the =M AB = 10, A = 20° A T, AR 9] FelE Fshoi=h
(S, sin20° = 0.34, cos20° = 0.94, tan20° = 0.36 22 A4total,
ALt Aibs 2] EAAE] 712 YERdTh)

AB 10 — 10 10
2°:=:=A :—:—:1064
cos 20 AC AC’ ¢ cos20° 0.94
¢ B _
tan 20° = £ = —C, BC =10tan20° = 10x 0.36 = 3.6
AB 10
whefa] AFZFE O] E9l= 10 + 10.64 + 3.6 = 24.24 o]t}
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AC=1V132-122=+V25=5

: 12 5
SinA = 13’ sin B = 13
12 5 60

. SiInAXsinB=—X-—=——
13 13 169
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o) 2193} T2 AGHA| A HG = FG = A D
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cm3

25V6 125vV6 125 V6
@) 5 cm @ 5 om ® 5
@ 68 V6 cm? ® 125 V6 cm?

B

FH =5v2cm , AE = BF = FH x tan 30 °

S 1 5v6
V3 3
5v6 1256

HoE=5x5x% (cm?)

3 3
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@ 12v6 @ ® 48
@ 686 @96

BE =8 x cos45° = 42

AHZ}7159] Bl 442 x 42 x % X6 =96 °|t}.




10. th& 198 /ABH = 60° ¢l ¢
ojth . &9l BuE F5lH?
@243 \V3n @ 2443r

® 2453n @ 243+5n
® 246 Vhr

~&B

., BH __ . 1
cos 60 —1—8..BH—18(:0560 —18><2—9
AH —
tan 60° = -5 AH = 9tan60° = 9V3
1
(%%Q—‘?'—ﬂ)zQXQXnXQ\/gx§=243\/§n




thE 1E 3 2ol AlA|S] 71 B A B A F AbelE 4T Fe
2 ZZo|1 gtt. 39| Aol 30cm ©]1, /BOA = /AOB’ = 45°,

/BOB = 90° o]t. 7} 71 & 91710 S W, = A AL

71502 st W em 9 Eolof =71
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@15(2— V2)em @ 20(2 - V2)ecm ® 25(2 - V2)em
@ 30(2- V2)em  ® 35(2- V2)em

A B oA OA o Yl =41e] & C 2t 5t
0C 0C Vi .
40:::_:_ _ 8
cos 45 55 30 5 ,0C = 15v2cm o]t}
wtet] AC = OA - OC
=30-15V2

=15(2 - V2)em ]t}




12. & 199 A7+ ABC oA /B =45°, «C =75, BC=8 < o,
AC 9] 4o & 313?

/A =180°—-45°—-75°=60°
AC sin60° = 8sin 45°

—C_8Xsin45°_8><
© sin60° g
_8V2 86

Vi 3

vl




13. ™5 AABC oA /A = 45°, /B = T75°, c
AB = 12cm ¢ ©j, BC ¢] Zdo]& 5}o]
e},

\VARR 4
02
L

4V6 cm

Te --"B
A “-12cm 7

12 sin45° = xsin 60°

2 3
12><\/7_=x><‘/7_,12«/§= V3x

12v2 126
6(c

Xr=— = —

3 3
= 46( cm)




14. o 294 AB O] Aol=?

O 12 @ 13 ® 14

@ 15 @16

B

AH = 8sin30° =4

CH = 8cos30° =43

BH =4v3tan60° = 4V3x V3 =12
~AB=AH+BH=4+12=16




15. t&2 aABC 9] E°|& Fot= A
g dREelth @ + b O FE
T-5HH?

AH = h=}5hH,
BH=axh, CH=bxh
ol o}, BH+ CH = 10°]2&
h(a+Db) =10

@ 2 @+ ® 6 @ 8 ® 10

B ~

(BAH = 60°, /.CAH = 45° 0|22
BH = tan60° x h, CH = tan45° X h
a=tan60° = V3 0] b =tan45° =1
L a’+ b =4




16. ©HS 1399 AABC oA AH ¢] Zo]

=7

@ 25(V3-1) @25(3— V3)
@ 50V3-1 ® 50V3+1

B

A
60° 45°
N
® 25v3-1

BH=a&stHa:AH=1: V3

o|m g

AH = V3a

CH=AH = V3a,BC = a+

V3a = 50

(14 V3)a = 50, P
V3+1

25(V3-1)
- AH = V3x25(V3-1) = 25(3-
V3)




17. AB = AC = 2, /ABC = 30° ¢l o]5H 479 ABC 2] A B oA
AR AC 9] AFA Qo Ya =49 WS H 2 & o, A& BH 9
Zo|& Fotoiet
> £
> =gt 3

B ‘

A A o4 1 BC 1ol el S410] e M o]2} sha 4
o] ZolE= 2 x cos30° = V3 o|B=R

# BC 9] 4ol 2V3

wrebA BH = BC xsin30° = V3

e
=
Q
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AB =AC =4, /ABC =30° ¢ o

off
rE
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N
N
ol
>

=T o =
AR AC o QA Qo] Y& A0 vre H g & o, 4213 ABH
o] Wol| = F5foiat,
» Eh
> XMt 243
A A oA ¥ BC Yol = =49 2H-& M 0|2} st A& MC

9] Zlo]= 4 x cos30° =243 o|B &2
¥ BC 2] Zol=4v3

BH = BC xsin30° = 2V3

/ABH =30° 0|22 AH =2

o, AABH:%x2x2\/§:2\/§




19. T7H o] A A EolS Totr ] $lste] 100m WolH 5 27
B, ColA A & &eith 2 7ko] 2718 245k, 72¢, 65° ©]9)
of. the F ol h 2 To 918 Sk A2

100 100
O sin 25° — sin 18° @ tan 25° — tan 18°
100 @ sin 25° — sin 18°
cos 25° — cos 18° 100
® cos 25° — cos 18°
100
100 100

h = =
tan(90° — 65°) — tan(90° — 72°)  tan 25° — tan 18°




20. & 189 AABC oA /A =30°, /CBH = 60°, AB = 40 & o,
AABC 9] Ho]=?

® 20V3 @ 200V3 @)100v3
@ 600V3 ® 800V3

B ~

Ao " pE-_ "
tan 30° tan 60°
AB—AH-BH— " h

tan30°  tan 60°

1 1 2
() -0 (3)
tan30°  tan60° 0 V3 0

.'.h:40><\/7§:20\/§

AABC 9 ‘5@01%40x20«/§><%=400\/§




